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DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
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DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
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1 20 09001301 WE TIEA £y B & FAF-177 1:23.35 1:26.01 2:49.36
2 21 09001775 7248 o i=455 HRFV—=y0 )" F) 1:25.91 1:29.44 2:55.35
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13 48 09002517 HAE 315 g F B HSC 1:40.42 1:46.36 3:26.78
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F=880
IERE 25—} =N B 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 B R OB R OB R RAU b
1 54 09001288 V(L Hh+EB £ KETTHTAF—)57° 1:22.61 1:21.09 2:43.70
2 5509001720 =A& Hi— LA BB AY 177" 1:22.09 1:21.91 2:44.00
3 56 09001609 =% [#4T = L IFrx-197° 1:22.09 1:23.21 2:45.30
4 5309001604 FFH % N DX AIESC 1:22.27 1:24.50 2:46.77
5 59 09001582 f&k Hfif = JAT VFSC 1:23.30 1:25.42 2:48.72
6 60 09001654 fFRH = I B I; B DSA¥—777" 1:23.50 1:26.80 2:50.30
7 57 09002385 AR 3Rk ={i werx—177 1:26.84 1:26.04 2:52.88
8 62 09001620 4 W7 = BNy =7 A%-RC 1:25.76 1:28.15 2:53.91
9 52 09001641 WAA IEHE 7 B EVBA)-N =) A%x-)77° 1:26.20 1:28.48 2:54.68
10 58 09001633 #21L W5EA = PR V=y )" A%=77° 1:26.30 1:28.49 2:54.79
11 64 09002791 KE} 5 gl e VAR S 1:27.92 1:29.17 2:57.09
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13 66 VIA Ffd = ClF k137 1:29.28 1:33.44 3:02.72
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KA INE =8 VAZEN PN <HY =8 Soft
AHF—bF/T 4=y v a R -7°C / -5°C AB—bF/T 4=y v a R -6°C / -4°C
F=880
NEAL AR=h =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1 L 155 I S I N AV
1 70 09001650 {Fji & 7 B HH 177" 1:21.52 1:23.13 2:44.65
2 71 09001185 TEHIR IEA £y KBTI AF—177" 1:21.46 1:25.86 2:47.32
3 68 09001491 FRE i = T B AR 1:23.98 1:24.34 2:48.32
4 78 09001628 T H FZE gl DENSO7E A 2~ SKIf 1:23.70 1:24.78 2:48.48
5 67 09001599 EWII B 5N — B T A% 8 B 1:23.80 1:27.20 2:51.00
6 72 09001557 KXIE —_ A My B BhEE AR 1:24.72 1:28.54 2:53.26
7 77 09001498 M ik AN T4y EEHESC 1:25.96 1:31.08 2:57.04
8 74 09001515 KX EAT N MY B BB AR 1:27.05 1:30.10 2:57.15
9 73 09001517 JRH P& R MY B BB 1:27.00 1:31.24 2:58.24
10 75 09001506  PaA HEiE N B ENY=7 A%-RC 1:28.49 1:30.77 2:59.26
11 80 KK 15 N )7 A%=177° 1:28.62 1:30.83 2:59.45
12 76 09002417 PHH #EF g B EERERT AY-) 77" 1:29.02 1:33.66 3:02.68
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DID NOT FINISH  [Ist RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HifrE HP JEE [&L] 18/098/97
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ISR - A - R TEiR (3 50] ISR - A - M b TR (%550 ]
ISR - B - SAFFIN ~—F 4[] ISR - B - TAF XN ~—T 4[]
ISR - C - &1 HiK (57 B ] ISR - C - &1 HiK (57 B ]
ISR - D - =y N ] (57 B ] ISR - D - ey N ] [l B2
ISR - F - BA i (57 B ] ISR - FE - BA i (57 B ]
TR 37(37) 2K — R 9:50 HEFH %K 38(37) 22— R 11:25
KA NE =8 Y7 bk KA <HD =8 Soft
A=K7 4=y v a iR -7C / -5C AB—bF/T 4=y v a R -6°C / -4°C
F=880
IERE 25—} =N B 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 B R OB R OB R RAU b
1 81 09001499 HH & N TAYY » 2T 4 (BR) A% 1:19.25 1:21.14 2:40.39
2 91 09001510 =}/ H— = F=hAA 1:19.49 1:21.38 2:40.87
382 09001623 B|fH #n8A gl - B AF 50 1:19.69 1:21.29 2:40.98
4 98 NI TR 5N T - B AR 1:19.84 1:22.07 2:41.91
5 83 09001556 BEL A 5N B H B BhRR AR 1:20.21 1:23.46 2:43.67
6 97 o N/ 57 B B985 A%=)77 1:21.41 1:23.87 2:45.28
7 84 09000820 L =z 5N AR =ITIN Ve AF=157° 1:22.42 1:25.19 2:47.61
8 92 09001493 RE& it gl T B AF 50 1:22.62 1:25.19 2:47.81
9 94 09002453 FEFE BAE R SR 1B I A%-)57" 1:22.84 1:25.01 2:47.85
10 96 RIAE N S = ClFand-r37° 1:23.24 1:25.58 2:48.82
11 88 09001564 H#AJH 7 5N AT TIAF=T 730~ 1:24.99 1:26.65 2:51.64
12 95 09002801 B ZEf& XN DENSO7E A 2~ SKIf 1:25.07 1:27.19 2:52.26
13 85 09001625 FIIR FrH| 5 BR) V" 247 b AF—F 1:25.81 1:27.43 2:53.24
14 86 09001614 Fgia = =R sINBCTT A% —SELER 1:25.83 1:27.57 2:53.40
15 87 09001591  BEEH Bk 5N I¥AN ~SC 1:25.26 1:29.51 2:54.77
07/02/2010 / IZBD X FRF— G8/ 1
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16 89 09001512 ij = S Y= 2%-RC 1:29.07 1:32.07 3:01.14
DID NOT START [1st RUN] 2
90 09001626 =J& HEfd T BR) V™ AT b A%
93 09001525 71PN #hidr T A7 FYAF=T 73] =
DID NOT FINISH  [lst RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Bk m A [Eli] 18/098/97
07/02/2010 / 13BDE FAF—5; G8/ 2
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ISR - A - R TEiR [ZH] ISR - A - M b TR (3 50]
ISR - B - A F I ~—T 4 [FH] ISR - B - TAF XN ~—T 4[]
ISR - C - &1 HiK (57 5] ISR - C - &1 HiK (57 5]
ISR - D - =y N ] (57 5] ISR - D - ey N ] L2=N
ISR - F - KA it 2N ISR - FE - KA it (57 5]
TR 37(37) 22— R 9:50 R % 38(37) A2 — R 11:25
KA INE =8 VAZEN PN <HY =8 Soft
AHF—bF/T 4=y v a R -7°C / -5°C AB—bF/T 4=y v a R -6°C / -4°C
F=880
NEAL AR=h =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 Be R BE R B R AA2b
1 100 09001541 M F=oE 5N JA” V7SC 1:20.04 1:20.71 2:40.75
2 104 09001516 )1 Z=E=FR =R B/ R ST AT AR 1:20.70 1:22.04 2:42.74
3 99 09001497 ZxH #H— XA AV ¥EHESC 1:20.92 1:22.25 2:43.17
4 102 09001501 FFP FEE R TAVY - 2=T 4 (BF) AF—58 1:21.16 1:24.08 2:45.24
5 110 A ER 5N B H B EhRR AR 1:21.59 1:24.86 2:46.45
6 103 09001590 FHH Ft2 gl ¥ AN —}SC 1:23.20 1:24.78 2:47.98
7 109 A B3 N )7 A%—177° 1:22.05 1:26.07 2:48.12
8 108 FE &) N AT EAVESST 1:23.42 1:25.43 2:48.85
9 106 09001630 FEFE HEZ = VU A izk=r77° 1:25.74 1:25.52 2:51.26
10 111 e ER 5N WHFA-HF e 1:26.37 1:30.01 2:56.38
11 105 09002451 3fTjfE FHI A F-hVA¥a—=2)=177" 1:27.26 1:31.04 2:58.30
DID NOT START [1st RUN] 1
101 09002457 =@ %% R DENSO7E A 2= SKIf
07/02/2010 / IZBD X FRF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



201 0B~ AR —AAX—RFHERS

e 3 Uk i | L e PH A T

BT 4 55t

JEAT AS=h EEIN K &< 1AH 24KH é~%ka?x
No No K4 B4 BT B 4 Re R OB R OBE R KA b
DID NOT FINISH  [Ist RUN] 1
107 09002454  $iAK 1] ZH )97 TYAF=T 73] =
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HifrE HP JEE [&L] 18/098/97
07/02/2010 / 13BDE FAF—5; G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



201 0B~ AR —AAX—RFHERS

e 3 Uk i | L e PH A T

B4 0t PNEIL IS
N FR
Va— T = HNT—H
iz me RS (& 1] a— A4
A DA K BlfiE 2 — R
F5k wmE FHE (3 50] 2K — i 1502m
T4 =y v a R 1213m
ks & d=bry Hih 2w (3 50] 2 289m
AREBHS— 3 No. SAJ22-GS-51/91
1A4H 2 K H
a— ATy H— A EH (57 5] a— ATy H— NI TR [ =]
ISR - A - R TEiR [ZH] ISR - A - M b TR (3 50]
ISR - B - A F I ~—T 4 [FH] ISR - B - TAF XN ~—T 4[]
ISR - C - &1 HiK (57 5] ISR - C - &1 HiK (57 5]
ISR - D - =y N ] (57 5] ISR - D - ey N ] L2=N
ISR - F - KA it 2N ISR - FE - KA it (57 5]
TP % 37(37) 22— R 9:50 R % 38(37) A2 — R 11:25
KA INE =8 VAZEN PN <HY =8 Soft
AHF—bF/T 4=y v a R -7°C / -5°C AB—bF/T 4=y v a R -6°C / -4°C
F=880
NEAL AR=h =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1 L 155 I S I N AV
1 115 09001536 H&E b R0 JA” WFSC 1:17.18 1:20.26 2:37.44
2 124 A N B/ R ST AT AR 1:18.41 1:19.57 2:37.98
3127 PE I EAS = TR 7 VEYT AF-F-A 1:17.64 1:21.10 2:38.74
4 113 09001574 &4 85 = PR AR 1:17.74 1:21.28 2:39.02
5 130 T2 L 5N AR =TI U AF=1F7° 1:17.91 1:21.75 2:39.66
6 120 09002470 JHEA H T N WA -2 1:19.24 1:21.57 2:40.81
7 126 AT A WA 1:19.78 1:22.06 2:41.84
8 121 09002334 #tH FE— = KB RF—177° 1:19.88 1:22.02 2:41.90
9 128 /AR B R )7 A%=177° 1:20.26 1:21.73 2:41.99
10 114 09001544 g HEE= = SKI TEAM SEED 1:21.09 1:23.90 2:44.99
11 129 WA Fs R VT AT PAFE 1:20.90 1:24.58 2:45.48
12 122 R #=An N B/ R ST AT AR 1:21.27 1:24.48 2:45.75
13 119 09001500 H#A ¥H— BN MIAAKR =957 1:21.00 1:25.87 2:46.87
14 125 AR 5L3E =R B/ R ST AT AR 1:25.46 1:26.07 2:51.53
15 116 09002796 /Aff E#H A TV ) =2%=157° 1:2456 1:28.14 2:52.70
07/02/2010 / IZBD X FRF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



201 0B~ AR —AAX—RFHERS

e 3 Uk i | L e PH A T

BT 4 05t

NERE Ap=b =N B
No No K4 B4
16 117 09001592 J\A #B%& =R
17 123 NN Pz R
DID NOT START [1st RUN] 2
112 09001522 & FHC =R
118 09002486 JbiE & TR
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0

HHfE moh RS

07/02/2010 / 1 FB DX F A X —3

roJ& 4

SR AT A
TR B

TAVFERESC
Y Ny RT AX=177°

['Z1l] 18/098/97

1AH
iy fH

1:29.74
1:30.62

F=880
2KH & B L—=A
BE R B R AA b

1:33.26  3:03.00
1:33.77 3:04.39

G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



201 0B~ AR —AAX—RFHERS

e 3 Uk i | L e PH A T

BT 3 5t PNELR
N FR
Cay— T = HNT—H
iz me RS (& 1] a— A4
A DA K BlfiE 2 — R
£ wmE FHE (5 50] 2K — i 1502m
T 4=y a s 1213m
M EE R EH W [3%0] 2 289m
AREB A — 3 No. SAJ22-GS-51/91
1A4H 2 K H
a—Rt v H— A EH (57 5] a— ATy H— NI T —RR [=&]
ISR - A - R TEiR (3 50] ISR - A - M b TR (3 50]
ISR - B - SA TN w—TF 4 [FH] ISR - B - TAF XN ~—T 4[]
ISR - C - &1 HiK (57 5] ISR - C - &1 HiK (57 5]
ISR - D - =y N ] (57 5] ISR - D - ey N ] L2=N
ISR - F - KA it 2N ISR - FE - KA it (57 5]
TP % 37(37) 2K — R 9:50 % 38(37) 2K — R 11:25
PRZ3 INE =8 AZE KA <HY =8 Soft
AHF—bF/T 4=y v a R -7°C / -5°C AB—bF/T 4=y v a R -6°C / -4C
F=880
NERE Ap=b =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Héf Rl RA b
1 132 09001706 VGl l”/k TR HHERSYLC = Ty A+ 1:17.34 1:20.10 2:37.44
2 131 09001553  [dlA =4 =R B M B iR AF 50 1:18.10 1:20.96 2:39.06
3 142 I FErE XA CLUB Doing 1:19.26 1:21.80 2:41.06
4 135 09002462 {EJE B =50 TE 7 VRYT 1:18.97 1:22.43 2:41.40
5 133 09002459 ftiE Tikth A — B T A% —E 1:19.85 1:24.41 2:44.26
6 140 (PAN =N = Vo AT) b AR 1:21.64 1:25.44 2:47.08
7 139 it = T B AR 1:23.47 1:26.35 2:49.82
8 138 i &R = DENSOEE A2 2% 16 1:26.89 1:28.62 2:55.51
DID NOT START [1st RUN] 3
134 09002458 KEF Wik 5N M.0.S.T.
136 Kl 3k = TV ) =2%=157°
137 H B 72 gl IXAN =P AF=177°
DID NOT FINISH [1st RUN] 1
07/02/2010 / IZBD X FRF— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



201 0B~ AR —AAX—RFHERS

Mg B R s (L T P A T

BT 3 55t

JERE A5=b -b B 1AH 24KH & %‘Ff@Z
No No KA B 4 BB 4 I I 5 I 3 s A GV
141 Ak R — T TXAN =P AF—)77
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
gk At JRE [&111] 18/098/97
07/02/2010 / 1FBD X R F—5; G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



201 0B~ AR —AAX—RFHERS

e 3 Uk i | L e PH A T

BT 3 0mft PNELR
N FR
Tall— T =N T—H
iz me RS (& 1] a— A4
A DA K BlfiE 2 — R
F5k wmE FHE ] 2K — i 1502m
T 4=y a s 1213m
M EE R Hih 2w (3 50] 2 289m
AREBHS— 3 No. SAJ22-GS-51/91
1A4H 2 K H
a— 2y K — A EH (57 5] a— 2y K — NI T —RR [=H]
ISR - A - R TEiR [ZH] ISR - A - M b TR [Z5]
ISR - B - A F I ~—T 4 [FH] ISR - B - FAF N =T 4 [FH]
ISR - C - &1 HiK (57 5] ISR - C - &1 HiK (57 5]
ISR - D - =y N ] (57 5] ISR - D - ey N ] L2=N
ISR - F - KA it 2N ISR - FE - KA it (57 5]
TR 37(37) 2 K — N 9:50 HEFH %K 38(37) A K — N REE 11:25
KA INE =8 VAZEN PN <HY =8 Soft
A=K7 4=y v a iR -7°C / -5°C AB—bF/T 4=y v a R -6°C / -4°C
F=880
NERE Ap=b =N B 1K 2A&AH & 7 1—x
No No K4 JI=8 B 4 1 L 155 I S I N AV
1 143 09002795 JKiEt =1 A TV ) =a%=157" 1:23.43 1:23.70 2:47.13
DID NOT START [1st RUN] 4
144 09001594 #H #Hh& N nAHASC
145 09002461 #f B2 =R MY E BB AR
146 #E R 5N Ef IZER
147 JEREE I A )T A¥=177°
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
07/02/2010 / IZBD X FRF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



201 0B~ AR —AAX—RFHERS

Mg B R s (L T P A T

BT 3 0t

F=880
NEAL AR= =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 Be R OB R B R AA2 b
DISQUALIFIED [2nd RUN] 0
Hifkk @ A& [E1L] 18/098/97
07/02/2010 / IZBD X FRF— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



201 0B~ AR —AAX—RFHERS

e 3 Uk i | L e PH A T

BT 2 5% PNELR
N FR
Cay— T = HNT—H
iz me RS (& 1] a— A4
A DA K BlfiE 2 — R
F5k wmE FHE (%550 ] 2K — i 1502m
T 4= Hi s 1213m
ks & d=bry Hih 2w [Z5] o 289m
AREBHS— 3 No. SAJ22-GS-51/91
1A4H 2 K H
a— 2y K — A EH (57 5] a— 2y K — NI T —RR [=H]
ISR - A - R TEiR [ZH] ISR - A - M b TR [Z5]
ISR - B - A F I ~—T 4 [FH] ISR - B - FAF N =T 4 [FH]
ISR - C - &1 HiK (57 5] ISR - C - &1 HiK (57 5]
ISR - D - =y N ] (57 5] ISR - D - ey N ] L2=N
ISR - F - KA it 2N ISR - FE - KA it (57 5]
TR 37(37) 2 K — N 9:50 HEFH %K 38(37) A K — N REE 11:25
KA INE =8 VAZEN KA <HY =8 Soft
A=K7 4=y v a iR -7°C / -5°C AB—bF/T 4=y v a R -6°C / -4°C
F=880
NEAT Ag—b =N B 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = N 157 N | = 155 D N GV N
1 149 &l K5 5N T B AR 1:20.93 1:23.01 2:43.94
DID NOT START [1st RUN] 1
148 = BT 5N B H B BhRRg AR
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ A& [E1L] 18/098/97
07/02/2010 / IZBD X FRF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



